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[ Multiplying Single Digits by Multiples of 10 - Step-by-Step Lesson]

Lesson 1 Multiplication Problem:
a) 40 b) 50 x 7

X 2

Explanation:
a)
First we multiply 2 into ones place value “0”. We will get O.
Second we multiply 2 by the tens value “4”. We will get 4.
So the answer will be:

40

X 2

80

b)

First we multiply 7 by the ones place value “0”. We will get 0. Write the O in
the ones place:

0]

Second we multiply 7 by the tens value “5”. We will get 35. Place the 35 in
the hundreds and tens place.

So the answer will be 50 X 7 = 350
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